alphal3_4eX1X:cyclenum {run == 8136}
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10470

10470.5 10471 10471.5 10472

cyclenum

alpha4b_4ey4ay

8138

3137.5

8137

3136.5

8136

3135.5

8135

3134.5

8134

alpha46_4eY4aY:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum

run:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum

deltal3_lzx4ex

|
g
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-2.4

-2.6

-2.8

segment

-3

25

15

05

deltal3_12X4eX:cyclenum {run == 8136}

10470 10470.5 10471 104715 10472

cyclenum

segment:cyclenum {run == 8136}
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10470 10470.5 10471 10471.5 10472
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-72.5

-73.5

usl_1X:cyclenum {run == 8136}

L
10472
cyclenum

10470 10470.5 10471 104715

usl_4eY:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472

cyclenum

usl_say
N
[4,]

-3

-37.5

-38.5

usl_4aY:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum

usl_12X:cyclenum {run == 8136}

10470 10470.5 10471 104715 10472

cyclenum

8138

3137.5

8137

3136.5

8136

3135.5

8135

3134.5

8134

usl_4eX:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum

run:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472

cyclenum



-118.5

-119

-119.5

-120

-120.5

19

usi_4c

185

18

17.5

17

usr_1X:cyclenum {run == 8136}

10470 10470.5 10471 104715 10472

cyclenum

usr_4eY:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum
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usr_say

-3

-38.4

-38.6

-38.8

-39.2

-39.4

-39.6

-39.8

usr_4aY:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum

usr_12X:cyclenum {run == 8136}

10470 10470.5 10471 104715 10472

cyclenum

169.8 F

169.6

169.4 F

169.2F

169

168.8 F

168.6

168.4

168.2

168 F

167.8F

167.6

8138

3137.5

8137

3136.5

8136

3135.5

8135

3134.5

8134

usr_4eX:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum

run:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum



5090.4

5090.2F
16090
5089.8F

5089.6F

5089.4
5089.2

16089

5088.8F
5088.6F
5088.4

5088.2F

3188.5

-3189

3189.5

-3190

3190.5

usl_coill:cyclenum {run == 8136}

vl v by by by 1y
10470 10470.5 10471 10471.5 10472
cyclenum

usl_caoil6:cyclenum {run == 8136}
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10470 10470.5 10471 10471.5 10472

cyclenum

2229.8 F

2229.6

2229.4

2229.2 F

2229 F

2228.8

2228.6

2228.4

2228.2

2228

2227.8

2227.6

3228

3227.5

3227

3226.5

3226

usl_coil3:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum

usl_coil7:cyclenum {run == 8136}

10470 10470.5 10471 104715 10472

cyclenum

5250.4

5250.2 F
5250 F
5249.8 F

5249.6 F

5249.4
5249.2

5249

5248.8 F
5248.6 F
52484 F

52482 F

8138

3137.5

8137

3136.5

8136

3135.5

8135

3134.5

8134

usl_coil4:cyclenum {run == 8136}

el by e b by 1y
10470 10470.5 10471 10471.5 10472
cyclenum

run:cyclenum {run == 8136}
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10470 10470.5 10471 10471.5 10472
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4897.2F

1897.4

4897.6F

4897.

14898

4898.2F

1898.4

4898.6
1898.8
14899 F

4899.2F

1899.4

2011.2F

2911.4F

2911.6

2911.8F
-2912F
20122 F
2912.4F
2912.6 F
2012.8 F

-2013F

2913.2

2913.4

usr_coill:cyclenum {run == 8136}

pa v
10471 10471.5 10472
cyclenum

1
10470 10470.

usr_coil6:cyclenum {run == 8136}

1
10470 10470.5 10471 10471.5 10472

cyclenum

2063.5

-2064

2064.5

—-2065

2065.5

1915.4

1915.2F

34915

4914.8

4914.6

1914.4

4914.2

34914

4913.8

4913.6

19134 F

4913.2

usr_coil3:cyclenum {run == 8136}

P I BN AP I
10470  10470. 10471 10471 10472
cyclenum
usr_coil7:cyclenum {run == 8136}
N A I I
10470  10470. 10471 104715

cyclenum

17345

4734

1733.5

4733

1732.5

8138

3137.5

8137

3136.5

8136

3135.5

8135

3134.5

8134

usr_coil4:cyclenum {run == 8136}

ol o b by by 1
10470 10470.5 10471 10471.5 10472
cyclenum

run:cyclenum {run == 8136}

10470 10470.5 10471 10471. 10472
cyclenum




-118.6

-118.8F
-119F
-119.2F

-119.4F

-119.6
-119.8

-120

-120.2
-120.4 F
-120.6 F

-120.8F

-225.5

-226

-226.5

=227

-227.5

1X_coill:cyclenum {run == 8136}

Eol v by v v by b gy 1y
10470 10470.5 10471 10471.5 10472
cyclenum

4eX_coill:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum
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14

135

13

125

-22.5

-23.5

1X_coil3:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum

4eX_coil3:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum

1246.5

246

2455

245

2445

262.5

262

261.5

261

260.5

1X_coil7:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum

4eX_coil7:cyclenum {run == 8136}
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10470 10470.5 10471 10471.5 10472
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291.8

291.6

291.4F

291.2

291

290.8F

290.6

290.4

290.2F

200 F

289.8

289.6

269.4

269.2F

269

268.8 F

268.6 F

268.4

2682

268

267.8

267.6

267.4

267.2

4aY_coild:cyclenum {run == 8136}
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10471 10471.5 10472
cyclenum

1
10470 10470.

4eY_coil4:cyclenum {run == 8136}

L L
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cyclenum

1 1 1
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-121.2

-121.4

-121.6

-121.8

-122

-122.2F

-122.4

-122.6

-122.8

-123

-123.2F

-123.4

-148

-148.5

-149

-149.5

-150

4aY_coil6:cyclenum {run == 8136}
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cyclenum

4eY_coil6:cyclenum {run == 8136}
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-315
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4aY_coil7:cyclenum {run == 8136}
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cyclenum

4eY_coil7:cyclenum {run == 8136}
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-231.6
-231.8F

-232F
-232.2F

-232.4F

-232.6
-232.8

-233

-233.2F
-233.4F
-233.6 F

-233.8F
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12X_coill:cyclenum {run == 8136}

10470 10470.5 10471 104715

cyclenum

12X_coil6:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum

-85.5

-86.5

-528.5

-529

-529.5

-530

-530.5

12X_coil3:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum

12X_coil7:cyclenum {run == 8136}

10470 10470.5 10471 10471.5 10472
cyclenum
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7.2

6.8
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8138

3137.5

8137

3136.5

8136

3135.5

8135

3134.5

8134

12X_coil4:cyclenum {run == 8136}
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10470 10470.5 10471 10471.5 10472
cyclenum




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


